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Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947025603 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most expected immediate outcome of teaching is

Options :

Changes in the behaviour of students in desirable direction
1. ¥

Development of total personality of students
2. %

Building characters of the students



Getting selected for a suitable job

Question Number : 2 Question Id : 54947025604 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good teaching is best reflected by
Options :

Attendance of students

1. ®
Number of distinctions
2. %
Meaningful questions asked by students
3.¢
Pin-drop silence in the class
4.%

Question Number : 3 Question Id : 54947025605 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Listening to a lecture is basically



Options :

Informational listening

1. ®

Evaluative listening
2. ¢

Emphatic listening
3. %

Dynamic Listening
4. %

Question Number : 4 Question Id : 54947025606 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a characteristic of a slow learner?
Options :

Limited vocabulary

Short span of attention



Abstract thinking
3.¢¥

Limited range of interests

Question Number : S Question Id : 54947025607 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dynamic approach to teaching means
Options :

Teaching should be forceful and effective

1. ®

Teachers should be energetic and dynamic
2. %

The topics of teaching should not be static, but dynamic
3. %

The students should be required to learn through activities
4. v



Question Number : 6 Question Id : 54947025608 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For an efficient and durable learning, learner should have

Options :

Ability to learn only

1. %
Requisite level of motivation only
2. %
Opportunities to learn only
3. %
Desired level of ability and motivation
4.9

Question Number : 7 Question Id : 54947025609 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

National Literacy Mission was established in

Options :

1996



1988

2.¢

1999
3. %

2000
4. %

Question Number : 8 Question Id : 54947025610 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Research can be conducted by a person who

Options :

Has studied research methodology

Holds a postgraduate degree
2. %

Possesses thinking and reasoning ability
3. ¢



Is a hard worker

Question Number : 9 Question Id : 54947025611 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following research specifically requires objectivity to discover facts

and causes from the data gathered for the purpose?

Options :

Quantitative research
1.

Fundamental research
2. %

Qualitative research
3. %

Action research

Question Number : 10 Question Id : 54947025612 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The classification of studies into exploratory. descriptive, analytical, or predictive
research is based on
Options :

Logic of the research

1. %

Outcome of the research
2. %

Process of the research
3 %

Purpose of the research
4.

Question Number : 11 Question Id : 54947025613 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of study will be preferred by a researcher to estimate the degree of

relationship between the level of education and achievement motivation?

Options :



Naturalistic

1. ®

Inventory
2. %

Correlational
3.¢

Experimental
4.%

Question Number : 12 Question Id : 54947025614 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good research ethics means
Options :

Not disclosing the holdings of shares or stocks in a company that sponsors your
research

Assigning a particular research problem to one PhD or research student only
2.¢



Discussing with your colleagues confidential data from a research paper that
you are reviewing for an academic journal

Submitting the same research manuscript for publishing in more than one
journal

Question Number : 13 Question Id : 54947025615 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A research paper
Options :

is a compilation of information on a topic

1. ®
contains original research as deemed by the author

2. %
contains peer-reviewed original research or the evaluation of research
conducted by others.

3.¢

can be published in more than one journal.



Question Number : 14 Question Id : 54947025616 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Manipulation is always a part of
Options :

Historical research

1, *
Fundamental research
2. %
Descriptive research
3. %
Experimental research
4.9
Is Section Default? : null

Question Id : 54947025617 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Ecosystems provide people with a variety of goods and services. food. clean water, clean
air, flood control. soil stabilization, pollination, climate regulation, spiritual fulfilment, and
aesthetic enjoyment, to name just a few. Most of these benefits are either irreplaceable or the
technology necessary to replace them is prohibitively expensive. For example. potable

freshwater can be provided by desalinating sea water, but only at great cost.

The rapidly expanding human population has greatly modified the earth’s ecosystem to
meet their increased requirements of some of the goods and services, particularly food.,
freshwater, timber, fibre. and fuel. These modifications have contributed substantially to human
well being and economic development. However. the benefits have not been equally distributed.
Some people have actually been harmed by these changes. Moreover, short-term increases in
some ecosystems’ goods and services have come at the cost of long-term degradation of others.
For example, efforts to increase the production of food and fibre have decreased the ability of

some ecosystems to provide clean water, regulate flooding. and support biodiversity.

Sub questions

Question Number : 15 Question Id : 54947025618 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Expanding human population has an adverse effect on
(A) Spiritual fulfilment
(B) Availability of potable freshwater
(C) Employment
(D) Biodiversity
Which of the statements given above are correct?

Options :

(A). (B). and (C)

1. ®

(B). (C). and (D)
2. %

(B) and (D)
3.9

All of the above
4, %

Question Number : 16 Question Id : 54947025619 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The passage mentions that ‘some people have actually been harmed by these
changes’. It indicates towards
Options :

Inequitable distribution of benefit

1. ®
Decrease in the ability of some ecosystems to provide clean water. regulate
flooding, and support biodiversity
2. %
Both (1) and (2)
3. ¢
Neither (1) nor (2)
4. %

Question Number : 17 Question Id : 54947025620 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct in the context of the passage?

Options :



The rapid expansion of population has adversely affected some people

1. v
Sufficient efforts have not been made to increase the production of food and
fibre

2. %
In short term, some people may be harmed. but in long term, everyone will
benefit from modifications in earth’s ecosystem

3. %

No answer

Question Number : 18 Question Id : 54947025621 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With reference to the passage. consider the following statements:
(A) It 1s imperative to modify the earth’s eco-system for the well-being of mankind
(B) Technology can never replace all the goods and services provided by ecosystems

Which of the statements given above is/are correct?

Options :



Only (A)

] ®
Only (B)
2. ¢
Both (A) and (B)
3. %
Neither (A) nor (B)
4, %

Question Number : 19 Question Id : 54947025622 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage. which of the following can be taken as the main reason for
modification of earth’s ecosystem?

Options :

Technology

Increasing population
2. ¢



Lack of an integrated approach

No answer

Question Number : 20 Question Id : 54947025623 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can be considered as the most suitable title for the passage?

Options :
Modification of our ecosystem
1.¢
Our natural resources
2. %
Harmful effect of increase in human population
3. %
Human interference in our ecosystem
4.%

Question Number : 21 Question Id : 54947025624 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



With reference to the passage. consider the following statements:
(A) Technology driven ecosystems are alternate means of future needs

(B) Technology helps in improving ecosystems on short term basis but at the cost of

long term eco-degradation

Which of the statements given above is/are correct?

Options :
Only (A)
], %
Only (B)
2. %
Both (A) and (B)
3.9

Neither (A) nor (B)

Is Section Default? : null

Question Number : 22 Question Id : 54947025625 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The essential components of communication are

Options :

Source, message, interference, channel. receiver, feedback. and context
1.¢

Sign, source, destination, interaction, and correlation

2. %

Signs, symbols, understanding. communication, and communicant
3. %

Symbols, understanding. purpose. ideas. opinions, non-verbal, and reaction
4.%

Question Number : 23 Question Id : 54947025626 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another term used for interpersonal communication is
Options :

Group communication
1. %



Face-to-face public communication

2. %

Dyadic communication
3.¢

Traditional communication
4, ®

Question Number : 24 Question Id : 54947025627 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication in the class fails because
Options :

The students are inattentive

The teacher is monotonous in delivering the message
2.

The students have no interest in the lesson being taught



There is very much noise in and around the classroom

Question Number : 25 Question Id : 54947025628 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ability to understand, communicate with, motivate. and support other people.
both mdividually and in groups. define which of the following organizational skills?

Options :

Hard skills
1. %

Soft skills
2.9

Conceptual skills

Political skills

Question Number : 26 Question Id : 54947025629 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In India for broadcasting TV programmes which system is followed?

Options :

NTCS
1.

PAL
2.¢

NTSE
3. %

SECAM
4, ®

Question Number : 27 Question Id : 54947025630 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the process of communication, which one of the following is in the chronological
order?

Options :

Communication, medium, receiver, effect message



Medium. communicator. message. receiver, effect

2. %

Communicator, message. medium. receiver, effect
3.¢

Message. communicator. medium, receiver, effect
4.%

Question Number : 28 Question Id : 54947025631 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication between two or more people is called

Options :

Organizational communication
1. *

Interpersonal communication
2.¢

Extrapersonal communication



Intrapersonal communication

Question Number : 29 Question Id : 54947025632 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1.8, 27 64 125. 216, ...

Options :

256
1. %

343
2.

365
3. %

400
4, %

Question Number : 30 Question Id : 54947025633 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ABD, CDF, ..., GHJ, IIL

Options :



EFH

1.¢

L
2. %

HIJ
3. %

HIK
4. %

Question Number : 31 Question Id : 54947025634 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If “SELDOM” is coded as “1 24 3 6 5°, how will you code “MODE"?

Options :

3621
1. %

6238 1
2. %

5632

3.¢



[}
]
s
%)

Question Number : 32 Question Id : 54947025635 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

E is the son of A: D is the son of B. E is married to C. C is the daughter of B. How is
D related to E?

Options :
Brother
1. %
Uncle
2. %

Father-in-law

Brother-in-law
4.

Question Number : 33 Question Id : 54947025636 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Raman travels a distance of 5 ki in south direction. He turns to his right. After
walking 3 km, he turns to the left and walks 5 km. Now in which direction is he from
the starting place?

Options :
West
1. ®
South
2. %
South-west
3.¢

North-east

Question Number : 34 Question Id : 54947025637 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

P.Q.R. S, and T are sitting in a straight line facing north. P sits next to S but not to T.
Q 1s sitting next to R. who sits on the extreme left corner. T does not sit next to Q.
Who sits to the left of S?

Options :



1.¢

Q
2. %

H
3. %

S
4. %

Question Number : 35 Question Id : 54947025638 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The year next to 1991 will have the same calendar as that of the year 1991.

Options :

1992
1. %

1995
2. %

1996

3. %



1997

Question Number : 36 Question Id : 54947025639 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A disjunctive proposition is a type of
Options :
Conditional proposition

l.¥

Unconditional proposition

2. %

Categorical proposition
3. %

Imperative proposition
4.%

Question Number : 37 Question Id : 54947025640 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Honesty is the best policy’ because



Options :

God rewards those who follow this maxim

1%
It leads to recognition in the society
2. %
It facilitates cohesiveness in society
3. ¢
It leads to material prosperity and spiritual awakening
4. %

Question Number : 38 Question Id : 54947025641 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements followed by four conclusions numbered L. II. III. and
IV. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts and then decide which of the given conclusions
logically follow from the given statements.
Statements:

Some tables are TVs.

Some TVs are radios.
Conclusions:

I. Some tables are radios.

IT. Some radios are tables.

ITI. All radios are TVs.

IV. All TVs are tables.

Options :

Only I and III follow

Only IT and IV follow



All follow

Nomne follows
4. W

Question Number : 39 Question Id : 54947025642 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements followed by four conclusions numbered I II, III, and
IV. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts and then decide which of the given conclusions
logically follow from the given statements.
Statements:

All branches are flowers

All flowers are trees.
Conclusions:

I. All branches are trees.

IT. All trees are branches.

ITI. All flowers are branches.

IV. Some trees are branches.

Options :

Only I and I'V follow
1.v

Only II and ITI follow



All follow

3. %

None follows

Question Number : 40 Question Id : 54947025643 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are voluntary provisions in the 73rd Constitutional
Amendment Act (1992)?
L Minimum age of 21 for contesting elections to Panchayats

IT. Indirect elections to the post of Chairperson Panchayats at the
intermediate and district levels.

I1I. Representation of Members of Parliament and State Legislature on
Panchayati Raj institutions

IV. Reservation of seats for backward classes.

Select the correct answer from the code given below.

Options :

LII and IV

1. %



II. IIT. and IV

2. %

L. II. and IIT
3, %

I and IV
4.9

Question Number : 41 Question Id : 54947025644 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement ‘some men are honest” is false, which among the following
statements will be true? Choose the correct code given below.

(1) All men are honest.
(11) No men are honest.
(111) Some men are not honest.

(1v) All men are dishonest.
Options :

(1). (i1) and (ii1)
1. ¢



(i1), (ii1) and (1v)

2. %

(1). (111) and (1v)
3. %

(1), (1) and (1v)
4. %

Question Number : 42 Question Id : 54947025645 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two premises.
Premises:
(1) All saints are religious. (major)
(11) Some honest persons are saints. (1inor)

Four conclusions are drawn from those two premises in four codes. Select the code
that states the conclusion validly drawn.
Options :

All saints are honest.



Some saints are honest.

2. %
Some honest persons are religious.
3.
All religious persons are honest.
4. %
Is Section Default? : null

Question Id : 54947025646 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
Study the pie chart given below and answer questions 43, 44 and 45. It gives the breakup of
expenses incurred in publishing a book.

Transport,
10%

Binding, 20%

Paper cost,
25%

Royalty, 15%

Promotion,

Printing, 20%

Sub questions

Question Number : 43 Question Id : 54947025647 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



If the cost price of the book i1s Rs.150, then what is the combined printing and binding
cost for a single copy of the book?

Options :

60
1.v

75
2. %

80
3. %

85
4, ®

Question Number : 44 Question Id : 54947025648 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the central angle of the sector corresponding to the expenditure incurred on
royalty?

Options :

48°



2.

60°
3. %

727
4. %

Question Number : 45 Question Id : 54947025649 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the difference between promotion and printing cost in rupees if we assume
that total cost is Rs.200

Options :

10
1. %

20
2. ¢

30
3. %

40



Is Section Default? : null

Question Id : 54947025650 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)

Note:

Study the following table carefully and answer questions 46—49. It consists of data on the
number of candidates who appeared from five schools in the board exams over 2004-2008.

Schools
Year A B & D E
2004 650 760 820 800 780
2005 700 740 860 780 740
2006 800 820 940 750 730
2007 750 880 920 840 790
2008 850 840 900 860 770

Sub questions

Question Number : 46 Question Id : 54947025651 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the average number of students who appeared from School B for all the
years?



Options :

676

1. %

787
2. %

208
3.

818
4. %

Question Number : 47 Question Id : 54947025652 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of students who appeared in 2006 from School A is what percent of the
total number of students who appeared from School A for all the years together?

Options :

25.25



22.45

Question Number : 48 Question Id : 54947025653 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio between the total numbers of students who appeared in 2004 and
2005 from Schools C and D. respectively?

Options :

34:79
1. ¥

79 : 84
2. %

34 : 89
3. %

89 : 84
4, %

Question Number : 49 Question Id : 54947025654 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the average number of students who appeared from the given schools in
20077

Options :
325
1. %
836
2.9
345
3. %
863
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947025655 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of connect intelligence is derived from

Options :

Virtual reality



Fuzzy logic

2. %

Bluetooth technology
3. %

Value-added networks
4.

Question Number : 51 Question Id : 54947025656 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Programs designed to perform specific tasks are known as

Options :

System software
1. %

Application software
2.¢

Utility programs



Operating system

Question Number : 52 Question Id : 54947025657 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a network device?

Options :
Router
1. ®
Switch
2. %
Hub
3, %
CPU
4. ¢

Question Number : 53 Question Id : 54947025658 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a search engine?

Options :



Macromedia Flash

1. ®
Google
2.
Netscape
3. %
Librarians’ Index to the Internet
4, ®

Question Number : 54 Question Id : 54947025659 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

FTP stands for
Options :

Full Text Processing

File Transfer Program



File Transfer Process

File Transfer Protocol
4.

Question Number : 55 Question Id : 54947025660 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Wired Ethernet is basically

Options :
ADSL
1. #
ISDN
2.9
Broadband
3. %

The Internet

Question Number : 56 Question Id : 54947025661 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eklavya Technology channel, started in 2003, 1s a distant-learning joint initiative
between

Options :

IIT and IGNOU

1.

IIIT and IGNOU
2. %

UGC and AICTE
3, %

IIT and AICTE
4, %

Question Number : 57 Question Id : 54947025662 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following gas affects human health by reducing blood’s ability to cairy

oxygen to different parts of the body?

Options :



Carbon monoxide

1. v

Sulphur dioxide
2. %

Carbon dioxide
3 %

Nitrous dioxide
4, %

Question Number : 58 Question Id : 54947025663 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Acid rain 1s formed by the
Options :
Combination of chemical air pollutants with atmospheric water droplets

1.¢

Mixing of acid with rain



Release of industrial pollutants in the atmosphere

No answer

Question Number : 59 Question Id : 54947025664 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Best extinguisher for inflammable materials is

Options :
Water
1. #
SOz
2. %
CO-
3.¢
CO
4. %

Question Number : 60 Question Id : 54947025665 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Nuclear fusion reactions happens spontaneously in
Options :

The core of the earth

1. %
The commercial nuclear reactor
2. %
The atmosphere of the sun
3.¢
The eruption of a volcano
4.%

Question Number : 61 Question Id : 54947025666 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The tallest trees in the world are found in the
Options :

Equatorial region
1.¢



Temperate region

2. %

Monsoon region
3. %

Mediterranean region
4. %

Question Number : 62 Question Id : 54947025667 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following element is used in the making of solar cells?

Options :
Platinum
1. %
Carbon
2. %
Silicon

3.¢¥



Silver

Question Number : 63 Question Id : 54947025668 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Organic food is supposed to be better for human health as

Options :
It is raised on special chemicals
1. ®
It is more expensive
2. %
It 1s grown without the use of artificial fertilizers and pesticides
3.

No answer

Question Number : 64 Question Id : 54947025669 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Ministry of Human Resource Development was created in the year

Options :



1972

1. %

1980
2. %

1985
3.¢

1991
4. %

Question Number : 65 Question Id : 54947025670 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following agency or institution proposed introduction of India
Education Index (IEI) for ranking institutes based on academic, research,
performance, and other parameters?

Options :

AICTE

NAAC



uGcC

IIT-Dellu

Question Number : 66 Question Id : 54947025671 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India. that 1s Bharat. shall be a union of states. The states and the territories. thereof.
shall be as specified in the

Options :

First Schedule
1. ¢

Second Schedule
2. %

Third Schedule
3, %

No answer

Question Number : 67 Question Id : 54947025672 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How do Directive Principles of State Policy differ from Fundamental Rights?
Options :

The former are meant for UTs. whereas the latter are for states.

], %
The former are not enforceable. whereas the latter are enforceable.
2.¢
The former are not a part of the constitution, whereas the latter are the part of
the constitution.
3 %
No answer
4.

Question Number : 68 Question Id : 54947025673 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum strength of Lok Sabha and Rajva Sabha. respectively. 1s

Options :

552 and 250



537 and 275

2. %

525 and 238
3 %

545 and 250
4.«

Question Number : 69 Question Id : 54947025674 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which subject was transferred from state list to Concurrent List by the 42nd
amendment of the constitution?

Options :

Agriculture
1 ®

Education
2. ¥

Irrigation

3. %



Local self-government

Question Number : 70 Question Id : 54947025675 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s the highest Law Officer of a state?

Options :

Attorney General
1. ®

Advocate General
2. %

Solicitor General
3. %

Secretary General
4. %

Buddhist Studies
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Question Number : 71 Question Id : 54947025676 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The fourth Buddhist Council was presided over by

Options :
Mahakasyapa
1. ®
Sabakami
2. %

Mogliputta Tissa

Vasumitra

4. &

Question Number : 72 Question Id : 54947025677 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Where did Buddha’s Mahaparinirvana take place?

Options :

Saranath
], %

Kushinagar

2.

Bodh Gaya
3. %

[Lumbini
4. %

Question Number : 73 Question Id : 54947025678 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Triratna in Buddhism refers to
Options :

Satya ., Shanti, Karuna



Buddha, Dhamma, Sangha

2.¢
Sheela, Sangha, Samadhi

3. %
Satya, Dhamma, Shanti

4. %

Question Number : 74 Question Id : 54947025679 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following texts was not composed by Asvaghosha
Options :

Buddhacharita

Saundarananda



Sariputra prakaran

3. %

Abhidammakosha

4.

Question Number : 75 Question Id : 54947025680 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following texts was composed by Buddhaghosa

Options :

Visuddhimagga

1.v

Buddhacharita

Abhidammakosha



Sariputra Prakaran

Question Number : 76 Question Id : 54947025681 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book Mahavastu was composed in which language

Options :
Ardhamagadhi
1. *
Hindi
2. %
Sanskrit

3.¢



Dravidian

Question Number : 77 Question Id : 54947025682 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Within Buddhism. the earliest tradition was

Options :

Theravada
1. ¢

Mahayana
2. %

Nichiren
3. %

Shingon



Question Number : 78 Question Id : 54947025683 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Niganta Nataputta was the Jaina Theerthankara

Options :

-2
-2

-3
Lad

3.¢

|
h

Question Number : 79 Question Id : 54947025684 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Vipassana was a type of

Options :

Meditation
1. ¢

Text
2. %

Art

3. %

Praver
4. %

Question Number : 80 Question Id : 54947025685 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following mandates 1s drawn from Budhism?



Options :

Teacher is greater than God. Hence, follow him

1. %
Always strive to attain the best in life
2. %
Be your own guide in life
3.¢
Experiences are great teachers.
4.%

Question Number : 81 Question Id : 54947025686 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Lakshanas represent non-self?

Options :

Anicca



Anatta

2.9

Dukha
3 %

Anicca and Dukha
4, %

Question Number : 82 Question Id : 54947025687 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The three categories of Buddhist training are

Options :

Sila, Samadhi and Prajna
1. ¢

Sila. Guna and Samadhi



Sila, Guna and Prajna

Samadhi, Guna and Prajna

Question Number : 83 Question Id : 54947025688 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pratityasamutpada is the theory of
Options :

Dependent production

Dependent origination
2.

Independent origination



Independent production

Question Number : 84 Question Id : 54947025689 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sunyata stands for

Options :

Absolute
1. %

Ultumate
2. %

Voidness
3.

Substance
4, %

Question Number : 85 Question Id : 54947025690 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Ancient Educational Institution Vallabhi is located in

Options :

Vidharbha

Saurashtra

Marathwada

Rajputana

Question Number : 86 Question Id : 54947025691 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What mnspired the paintings of Ajanta?

Options :



Mahabharata encounters

], ®
Jain Thirthankaras
2. %
Ramayana encounters
3. %
Compassionate Buddha
4.9

Question Number : 87 Question Id : 54947025692 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mrigadava is another name of

Options :

Bodhgava



Lumbini

2. %

Samath
3.¢

Kusinara
4, %

Question Number : 88 Question Id : 54947025693 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not true about Anagarika Dharmapala?

Options :

The first global Buddhist missionary
1. %

One of the founding fathers of Smmhala Buddhist Nationalism



Associated with Theosophical Society of India

He encouraged violence during Sri Lankan freedom struggle

Question Number : 89 Question Id : 54947025694 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following monks translated Digha Nikava into Hindi?
Options :

Angarika Dharmapala
1. %

Mahatheera Krpasarana

Candramani Mahathera
3. %



Bhikshu Jagadias Kasyapa

4. ¢

Question Number : 90 Question Id : 54947025695 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the oldest stone structure in India and was conunissioned
by Emperor Asoka?

Options :

Nagarjunakonda Stupa

1. %

Amaravati Stupa
2. %

Sanchi Stupa
3. ¢

Purushapura Stupa



Question Number : 91 Question Id : 54947025696 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lumbini is associated with of Buddha
Options :
Birth

1. ¢

Passing away

2. %

Enlightenment
3. %

Sermon
4.%

Question Number : 92 Question Id : 54947025697 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Jamism “Utsarpini™ and “Avasarpini’” are associated with

Options :



Kalachakra

1.¥

Upasana
2. %

Sulekhana
3 %

Ahimsa
4, %

Question Number : 93 Question Id : 54947025698 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Jain tradition Rishabhanatha was associated with the symbol
Options :
Bull

1. ¢

Elephant

2. %



Horse

Monkey

Question Number : 94 Question Id : 54947025699 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which Thirthankara gained the title “Kalikal Kalpataru™?

Options :
Rishabhanatha
1. %
Parsvanatha
2.
Mahavira

3. %



Ajithanatha

Question Number : 95 Question Id : 54947025700 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the early Buddhist Suttas, who is referred to as “Araha™ or the worthy?

Options :

Ajithanatha

1. ®

Abhinandananatha

Sambhavanatha
3 %

Mahavira

4. v



Question Number : 96 Question Id : 54947025701 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mahabodhi temple at Bodhgaya was declared as UNESCO World Heritage site in
the year

Options :

2000

2002

2004

2006

Question Number : 97 Question Id : 54947025702 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Vinaya Pitaka is related to



Options :

Conduct of Buddhist monks

1.9
Conduct of Masses

2. %
Conduct of Royalty

3, %
Conduct of Women

4, %

Question Number : 98 Question Id : 54947025703 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sutapitaka contains

Options :

Sermons of Ananda



Sermons of Buddha

2.

Sermons of Upali
3. %

Sermons of Mahakasyapa
4. %

Question Number : 99 Question Id : 54947025704 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Buddhist Teachings are to be

Options :

Confirmed as a matter of faith

Confirmed through logical analysis
2.¢

Confirmed through advice



Confirmed through worship

Question Number : 100 Question Id : 54947025705 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Buddhist tradition what is Samyak Sankalpa?

Options :

Right view

1. ®

Right speech
2. %

Right resolve
3.¢

Right conduct
4. %

Question Number : 101 Question Id : 54947025706 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Right concentration means
Options :

Samyak Smriti

1. %
Samyak Ajiva
2. %
Samyak Samadhi
3.
Samyak Vak
4. %

Question Number : 102 Question Id : 54947025707 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who’s another name was Devanampiya Piyadasi?

Options :

Chandragupta Maurya



Ajatasatru

2. %
Asoka
3.«
Kalasoka
4, ®

Question Number : 103 Question Id : 54947025708 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not one of the four noble truths in Buddhist teachings?

Options :

Dukha

Samudaya



Nirodha

Kshama
4.9

Question Number : 104 Question Id : 54947025709 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not one of the three jewels of Jainism?

Options :

Right belief
1. %

Right knowledge
2. %

Right conduct

Right action
4.9



Question Number : 105 Question Id : 54947025710 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the Jain doctrine “Anekatvada™
Options :

The ultimate truth and reality are complex

1.¢
The ultimate truth and reality are simple
2. %
The ultimate truth and reality are obvious
3. %
The ultimate truth and reality are outright
4. %

Question Number : 106 Question Id : 54947025711 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Pabajja” in Buddhist tradition meant

Options :



Ceremony of student’s acceptance into monastery

1.

5 % Ceremony marking student’s completion of studies

- Ceremony marking student’s up-gradation in studies
Ceremony to highlight student’s achievements

4. %

Question Number : 107 Question Id : 54947025712 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mahayana Buddhism came into existence during which Buddhist Council?
Options :
First

1. #

Second



Third

3. %

Fourth
4.«

Question Number : 108 Question Id : 54947025713 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The version of Buddhism propagated by Asoka was

Options :

Hinayana
1. ¢

Mahayana
2. %

Theravada
3. %

Vajrayana



Question Number : 109 Question Id : 54947025714 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Vitarka mudra’ in Buddhism indicates

Options :
Intellectual debate
1. ¢
Fearlessness
2. %
Meditation
3 %
Truth
4, %

Question Number : 110 Question Id : 54947025715 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Buddha’s first sermon was on

Options :



Monastic rules

1. ®
Dharma chakra pravartana
2. ¢
Rajaniti
3. %
Sadguna
4. %

Question Number : 111 Question Id : 54947025716 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was true about Buddha?

Options :

He supported Varna system
1. %

He opposed Varna system
2.¢



He formulated Varna system
3. %

He was neutral on Varna system

Question Number : 112 Question Id : 54947025717 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following facts was associated with the third Buddhist Council?

Options :

Only Vinayapitaka was composed

Only Suttapitaka was composed

Abhidammapitaka was composed



Vinayapitaka and Suttapitaka were composed

Question Number : 113 Question Id : 54947025718 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Departure of Siddhartha in search of truth is termed as

Options :
Mahabhinishkramana
1. ¥
Nirvana
2. %
Parmirvana
3 %
Pravartana
4, %

Question Number : 114 Question Id : 54947025719 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following 1s not a Nikhya in Buddhism?
Options :

Digha Nikhaya

Samyutta Nikhaya

2. %
Anguttara Nikhaya
3. %
Sama Nikhaya
4.

Question Number : 115 Question Id : 54947025720 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Jataka tales are works of literature about Buddha’s

Options :

Future births



Previous births

2.¢

Preaching
3. %

Tours
4. %

Question Number : 116 Question Id : 54947025721 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Khajuraho Temples are associated with which two religions?

Options :

Hinduism and Jamism
1.¥

Buddhism and Jainism



Hinduism and Buddhism

Buddhism only

4. %

Question Number : 117 Question Id : 54947025722 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Palitana Jain temples are located in the State of

Options :
Maharashtra
], %
Bihar
2. %
Madhya Pradesh
3. %
Gujarat



Question Number : 118 Question Id : 54947025723 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Dilwara temples in Mount Abu are dedicated to which sect in Jainism?

Options :

Digambaras only

1. ®
Swetambaras only
2.¢
Both Digambaras and Swetambaras
3. %
Neither Digambaras nor Swetambaras
4. %

Question Number : 119 Question Id : 54947025724 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In Jaimn tradition Yaksha and Yakshini are

Options :
Spirits who guard Thirthankaras
1. ¢
Spiritual preachers
2. %
Equivalents of Thirthakaras
3. %

Devotees of Thirthankaras

Question Number : 120 Question Id : 54947025725 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statues of which Thirthankara have snake crown on the head?

Options :



Parsavanatha

1. ¢

Rishabhanatha
2. %

Mahavira
3 %

Sambhavanatha
4, %

Question Number : 121 Question Id : 54947025726 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which Jain temples use Solanki type of architecture?
Options :

Dilwara



Patilana

2.
Ranakpur
3 %
Lodhurva
4, ®

Question Number : 122 Question Id : 54947025727 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The next Mahamastakabhisekha at Sravanabelgola will be held in the year

Options :
2032
1. ®
2030
2.9
2031



-3
=]
(ad
4l

Question Number : 123 Question Id : 54947025728 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The food choices of Jains are based on the value of

Options :

Health
], %

Discipline
2. %

Non-violence
3.9

Compassion

Question Number : 124 Question Id : 54947025729 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The purpose of Aparigraha is to
Options :

Limit one’s possession

To express compassion

2. %

To express empathy
3. %

To practice equality
4.%

Question Number : 125 Question Id : 54947025730 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which sect of Jainism is the position of women considered low with reference to
liberation

Options :



Digambaras

1.¢

Swetambaras
2. %

Digambaras and Swetambaras
3. %

Neither Digambaras nor Swetambaras
4, %

Question Number : 126 Question Id : 54947025731 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Acaranga Sutra which Jaina Thirthankara explains the significance of big trees?
Options :

Mahavira
1. v

Rishabhanatha



Parsvanatha
3 %

Ajithanatha

Question Number : 127 Question Id : 54947025732 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gandhi called western economic systems as:

Options :

Unsustainable and against human spirit

1. v

Sustainable and beneficial
2. %

Safe and productive
3 %

Balancing and profitable



Question Number : 128 Question Id : 54947025733 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

By establishing cottage and small scale industries i every village Gandhi sought to

Options :

Eradicate poverty

1. ¢

Boost profits
2. %

Gather surplus
3. %

Promote trade
4. %

Question Number : 129 Question Id : 54947025734 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Gandhi

Options :



Ends justify means

1 ®
Means should provide standard of morality
2. ¥
Means are not important
3. %
Means are less important than ends
4, %

Question Number : 130 Question Id : 54947025735 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“_...after I read this book. that lack of faith in non-violence vanished.” Which book
of Leo Tolstoy Gandhi was referring to?

Options :

The Kingdom of God is within You
1. ¢



A Calendar of Wisdom

2. %

The Gospel in Brief
3. %

A Confession
4. %

Question Number : 131 Question Id : 54947025736 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Gandhi spiritualization of politics is to
Options :

Accord importance to religion

1. ®

To highlight Hinduism
2. %



To propagate Vedic culture

To moralize culture and practice of politics

4.

Question Number : 132 Question Id : 54947025737 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was the first Satyagraha led by Gandhi?

Options :
Bardoli
1. ®
Champaran
2.¢
Dandi
3. %
Kheda



Question Number : 133 Question Id : 54947025738 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gandhi accepted partition of India

Options :

Voluntarily
1. ®

To oblige the masses
2. %

As a last option

To please the British

Question Number : 134 Question Id : 54947025739 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is Greenpeace movement?
Options :

Global environmental movement
1. ¢

Green revolution

2. %

Farmers movement
3. %

Forest movement
4. %

Question Number : 135 Question Id : 54947025740 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Nelson Mandela described courage as
Options :

Triumph over poverty



Triumph over fear

2. ¢

Triumph over love
3. %

Triumph over selfishness
4.%

Question Number : 136 Question Id : 54947025741 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements 1s not true about Terrorism?
Options :

Some States are using terrorists in proxy war

Terrorist organisations are mobilizing suppoit across the globe

Some states are supporting the terrorists in a bid for global dominance
3. %



All terrorists belong to one single religion

4.

Question Number : 137 Question Id : 54947025742 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mtervening of a state in another state’s internal affairs to protect people from
their government’s persecution is called

Options :

Counter-insurgency

1. %
Humanitarian intervention
2. ¢
Emergency intervention
3. %
Ethnic emergency
4.%

Question Number : 138 Question Id : 54947025743 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following is not a characteristic of conflict?
Options :

Expressed struggle

1. ®

Incompatible goals
2.

Competing parties
3. %

Independent parties
4.9

Question Number : 139 Question Id : 54947025744 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Shanti Sena 1s a
Options :

Non-violent peacekeeping programme
1. v



Military brigade

2. %

Voluntary military force
3. %

Voluntary cop force
4. %

Question Number : 140 Question Id : 54947025745 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s classical peacekeeping?

Options :

Deployment of UN force to prevent genocide
], ®

Deployment of UN force when order has collapsed in States

2. 8

UN forces using force towards humanitarian ends



UN force placed between the parties to a dispute after ceasefire
4. v



